55 135380
35480

=k 2-1

B A3 A1qe s okflide

i poAgs g (eRpA#HIAR)

112 2764 | 8 #5582 53 @4

YRR 2] pE o
AR T OF MR I EE

OF &AL (EFPEGRAsFTIIEE FRERTAR s b o bR (Fg > 2337 o
Sk “,%Ev Frsm I otk R AR F AT o
- IR 2 ZRkEW=20% it e=090 1t £G, =27 c F RO A7
frrERE =€ (104 ) O frz k2 & & e =€ - (104 )

S e T B2 Bk P RAGBREN IR CHER CEfHEESER
% s W 5L, =0.1m >y, . =21kN/m®> k, =2x10° m/s ; L, =0.4m
Vors =196 KN/M® > k, =8x10° m/s » &04merkeg £ (£% T 28 R
FHRAEBZ @KL S DRk HEE S OFRA CDEFTHFLET o
(204 )

AV

0.4 m

0.4 m

0.1m

ﬁ.
EFRBAD EFZ MR T PR ER 0 B P o, =150kPa >
o, =255kPa s 4z 3E 3 Mok B AU=80kPa » & Ryt 32 eh oK BB L 6
5ok BEEEY o (204)

i



% 5,1 35380
35480
F=:i2-2
e TR R EB S e A KPR T ket S
F=150KN > pt L %rz 32 % FR & T RixBhk 2 7Im> A 272m
3 - BR2mz efedpd B o ZRd R P BT S Bf%lf//é] » 2K AL %P
1112 (kT r P ) A4 BT B AL FHR R
BRGS0 MBS RAR S BE R 2 WA R &5 (G dcm, =0.004/ kPa > F &
Bt AR R 2 R RpITHAE A A5em 2 p o B R A HranE ] B 5 B(m)

(;- P Heghis - ) (204 )

’\W F G.L.

j_ Im v . vl
/ B . BREE —

L1 = /// my=0.004/kPa \\\ IH:2 m

A

T TREEMEZES NREI I ECHATERLIm AHFAT LB R
P H Ly =23kN/mM’ ; B FBER LT BEIFHI2EE
y =16.5kKN/m® » B¥= 4 ¢ =40°; Bgzgy%m\mp, kemRgd 2 e B
b g, =200 F & RIFI BIRT > G870 15 B RS BA
#2 & KEB(m)? (204 )

ye=23 KN/m3 |

T4 ;HWFWF’HHHE



